
OFFICE COPY

KERALA CO-OPERATIVE MILK MARKETING FEDERATION LTD
CATTLE FEED PIANT, MALAMPUZHA, PAIAKKAD -678651

GST: AAAAK5375M6ZB (PAN: AAAAK5375M)
PH: 04912816316, 2816317 Email: cfln@milma.com                           7'tIV..32ogo2jg245c7f `    .

CST No: 32090219245C dt

19/01/2024

Enquiry No: CFP-M/PRODN CFp-M/PRODN/169/2o23-24/94

Sir.

Subject      : SUPPLY OF MECHANICAL SPARESAND ENGINEERING CONSUMABLES

Refererice: INDENT No:77,79 & 80 dtd. 09/01/2024 and H.0 Approval                                                                                                      S`

Kei.ala Co-operative Milk Marketing Federation Ltd, Cattle Feed Plant, Malampuzha, Palakkad-678651, invites your lowest

quotations  and  shortest delivery period  for the  items as  per annexure.  The  offer shall  be  subjected  to  the  following terms  and
-ondltion.

`Ji'erms & Conditions :
1. PRICE BASIS: All prices must be quoted as-FOR site basis, including all taxes and duties, freight, packing forwarding transit risk,

loadirig, etc. for the safe delivery of the items and nothing extra will be paid on this account.
2. VALIDITY: The offer should be valid for 3 MONTHS for acceptance from the date of year offer.
3. GTJARANTEE: The items supplied to be guaranteed for performance and quality for one year. If any item found damaged bad

quality etc. to be replaced free of cost.
4. PAYMENT: 900/o payment will be released on satisfactory receiptofitems at oursite and balance after guarantee period.      .
5. LIQUIDATED DAMAGES CLAUSE: In the case of supply is not completed within the stipulated damage.@1% will be charged for

thci;i items so delayed subject to a maximum of 100/o of the total value.
6. The undersigned reserves the right to accept your offer partly /or in full or to reject without giving any explanation.
7. The bidder shall submit copies of GST registration certificate & ID proof along with other details as mentioned in the

Annexure - 1 enclosed
8. Duly filled offer shall be submitted in sealed cover (either by post or by hand) on or before 02:00 PM on 01/02/2024 and opened

on same day 3.00 pin. Kindly note that mail quotations will not be accepted and considered.
9. The offers should be sent in a sealed covers,uper scribed: ``SEALED QUOTATION FOR MECHANICAL SPARES

AND ENGINEERING CONSUMABLES due on 01/02/2024" , Addressed to: MANAGER, KERALA CO-OPERATIVE
¥

MI1,K MARKETING FEDERATION LIMITED, MILMA CATTLE FEED PLANT, MALAMPUZHA, PALAKKAD -678651

dy  Copy to: FO, Production Section  File, Office File

TO'

1. All  Notice  Boards

2.  Canara  Bank

3.  Panchayath Office

4.  Milma website

`./'

Eii



ANNEXURE - 1
FORMAT FOR QUOTATION SUBMISSION

Enquiry No: CFP-M/PRODN CFP-M/PRODN/169/2023-24/94/dated 19.01.2024

1 Name & Address of the Bidder

2 Company Registration No:

3 GST Registration No: `

(Enclose        photocopy        GST        Registration
Certificate)

6
Aadhar/PAN:

i

(Enclose photocopy ofAadhar/PAN also),

7 Contact Details  (Phone No. & email  ID)

•J'

Sl. No. Item Code Description of the Item Make Qty Rate Amount
I

I.                 NUTS & BOLTS

1 2358 3/8xll/2" HEX BOLT ms 6
2 1207 PLATEWASHER1/2" 5
3 7559 M10x40  HEX BOLT 5
4 9379 M8x50 HEX  BOLT. 3

II

5 1982 M8 NUT MSHE 3
6 7560 M8x25 HEX BOLT 2

I

7 9378 M6x50 HEX  BOLT 1
I

8 7567 M12  SS  L()CK  NUT 50 !

9 1520T____ M5xl5  MS BOLT & NIJT 1
10 15214 Miox5OinEXBOLT

-._5____  _   _____

11 992 1/2" MS HEX NUT 6
12 2368 M6 PLATE WASHER 1
13 15239 M12 NUT MS 5
14 1001 M6x35 HT ALLEN  BOLT TVS ( Tire coupling) 200
15 1002 M6X40HT ALLEN BOLT TVS (Tire coupling) 200
16 2872 WD-40 (420 ml) 10
17 7F;J3 1/2"xll/2" HEXBOLT (MS) 6
18 5836 M6 HEX NUT 1
19 15203 M6X25 MS BOLT 1 -.

20 3277 3/8 MS WASHER 5
21 15213 M10X30  HEX BOLT 1 0_    -  -  - _   - - - - _

22 15238 M12X40 MS HEXHt 2



r_           23!2425!26
20751981385515209 5/8x2"H-EXB0LTMSMBX20MSHEBOLTM20X100BOLTM10MSNUTM14MSNUTM8x2~O~riTLFjNBOLT

`````11111`'`1±
6
2
12
8 I
2 I

L27Ff;-:= 160755132iTzdr-_-~-A-~
301 Ì

,_*.~~..,.,~,-.~-,-....----r--,.-,.-.--_M6X15MS B 0 LT.`_-----.-----------._+M14X50HEXB0 LT3/8X1"HEXB0LT3/8HEXNUTMSM6X20ALLENr2iI-m~HExc0upLI N G N U T8ininLOCKTYPENUT10ininLOCKTYPENUT12ininCAPNUT

2 _I...` 1 --.. ----------1----15216

313233_`------`-._34
5

9969972366r6951169531695416952
5
30 I
24
50

353637 11'1`''11'1±
2524`1`11`'11`1-

iiiiiiiiiiiiiiiii_I
I 11.               SPROCKET & CHAINSPROKETDUP17T1"teethhardenedSPOCKETDUP14T1"teethhardened3/4"x24TCHAINCOUPLINGHubSize120mmSPROCKETDUP40T1"teethhardenedSPROCKETDUP30TlteethhardenedSPROCKETDUP16TlteethhardenedIll.ELEVATORBUCKET&       .BELTFASTNERBELTFXSTNER1t/4"x5/16TFASTNER2"x5/16

4
-I

12T345 550459971322T55876000 `1``11`11±
4

&`

11`11`11-
2 I11'```1````-
2 I
4
4 I6!F=-E_9

i   528
2100 I-
300 I

hi:
527202 BELELEVATOR BUCKET254xl50xl27mmwith 3 Hole 16 gauge hole tohole90mm

300150

`®

14 203 ELEVATOR BUCKET

50

ii

203xl33xl08 mm with 3Holel6gauge hole tohole75mm

5I 15886
•    ELEVATORBUCKET254xl50xl27mml6 gauge,3 Holes hole tohole75MM, 1

'\                         DiscountPaclfii=;~-Forwardin&fransortationchare------------GSTTotalCost I_I
iiiiiiiiiiiiiiiiiiiiiillllllllllllllllllll-

11111111- '11'1'1-

Place:

Date:

Company seal

Signature:

Name:

Address:


